- 4 9 8

R 7 © Q)

I DC DISABLE

= 1 9

= 0 10 O 0 10

— @ @ CURRENT

= VOLTAGE © VOLTAGE

= 5

E DC1 DC2 \ bed

— 2

—= & 1 g
= 0 10 0 10

= VOLTAGE FINE CURRENT COMMON SW CURRENT VOLTAGE FINE

= 5 c.C. C.C.

Jp— 4 6

= 3 7 o | | ©

o O O O O

T ; (o)

R DC OUT 1 L DC OUT 2 d

-~ VOLTAGE COARSE - VOLTAGE COARSE

‘0; FEEEEEEEPEEEE PR EEEEEER R PO PR PR EEEEEEE PR PR PR LR PR PR U PR PP PR R PR PR FEEEEECEEEEEEEEE T
‘0 10 ‘20 ‘30 ‘40 ‘50 ‘60 ‘70 ‘80 ‘90 ‘100 ‘110 ‘120 130 ‘140 150 ‘160 ‘170 ‘180 ‘190 ‘200 ‘210 ‘220 ‘230 ‘240 ‘250 ‘260 ‘270 ‘280
View: normal

Original 282 x 130 mm
2013.08.22. - 17:50:16



